Bellwork Alg2  Wednesday, December 4, 2019

1. Find all four roots to this polynomial:  fx) = x* + 3x3 + 4x2 — 4x — 48

2. Given the rectangle with dimensions shown:
X+ 2

X+9H
Find the value of x that gives an area of 208 in2.

3. Find all five zeros of this polynomial f{x) = 7x> — 10x* + 73x3 — 58x2 + 180x — 72 given that x2 —x + 6 is a
factor.
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2. Given the rectangle with dimensions shown:
X+ 2
X+5
Find the value of x that gives an area of 208 in2.
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3. Find all five zeros of this polynomial f{x) = 7x° — 10x* + 73x3 — 58x2 + 180x — 72 given thatx2 —x + 6 is a
factor. 5
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